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Sketch the solution to each system of inequalities.
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ID: 1
Algebra 1 Name

Assignment Date Period

Sketch the solution to each system of inequalities.
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Sketch the solution to each system of inequalities.
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Algebra 1 Name
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Sketch the solution to each system of inequalities.
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Sketch the solution to each system of inequalities.
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Algebra 1
Assignment

Sketch the solution to each system of inequalities.
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Algebra 1
Assignment

Sketch the solution to each system of inequalities.
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ID: 4

Algebra 1 Name
Assignment Date Period
Sketch the solution to each system of inequalities.
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Algebra 1 Name
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Assignment Date
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Sketch the solution to each system of inequalities.

1) y>—-4x-2 1
2) y<—x+1
y<x+3 )y 2
N 3
5 y>—x-1
A 2
3 N
5
2
4
1
Z N 3
S5 4 -3-2-10 1 2 3 4 57 2
1
—2 s N
3 Y5 4 -3-2-10 1 2 3 4 57
-4
-2
-5
Vv -3
-4
-5
N4
3) y<x-2 4
4 >——X+1
y<—4x+3 )y 3
N 1
5 y<——X-2
A 3
3 N
5
2
4
1
ya N 3
Y54 -3-2-10 1 2 3 4 57 2
1
-2 y AN
3 Y5 4 -3-2-10 1 2 3 4 57
—4
-2
-5
v -3
4
-5
N4




5) y<-2x-2

1
<—X+3
y 2

~

w

7) y>—-4x+1
y<-4x-1

A\ %4

A\ %4

6) y>-5x+3
y>x-3
/
5
3
1
4 AN
S5 4 3210 7
-3
=
N
8) y>-2x-3
2 1
y>——X+
3
/
J
4
3
1
4 AN
Y5 4 -3 -2-10 7




Algebra 1
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Sketch the solution to each system of inequalities.
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Algebra 1
Assignment

Sketch the solution to each system of inequalities.
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Algebra 1 Name
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Sketch the solution to each system of inequalities.
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Algebra 1 Name
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Sketch the solution to each system of inequalities.
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Algebra 1
Assignment

Sketch the solution to each system of inequalities.
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Sketch the solution to each system of inequalities.
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Algebra 1
Assignment

Sketch the solution to each system of inequalities.
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Algebra 1
Assignment

Sketch the solution to each system of inequalities.
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Sketch the solution to each system of inequalities.
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Sketch the solution to each system of inequalities.
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Sketch the solution to each system of inequalities.
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